P-1

A= B
20214 9H 26H (H)
W BT o
FTE I PR :
HDCP EFR(B) 0 999.9  HDCP LFR (&) : 999.9
4 j N\
g fr | =% ¥ K 4 OUT = 1IN GROSS| HDCP | NET
' B © WU T 44 44 88 | 25.0| 63.0
YR © I R 42 44 86 | 22.0| 64.0
3fr | © AF HA 42 42 84 | 19.0| 65.0
A A e 41 43 84 | 19.0| 65.0
VA | ok k@ | 48 49 . | 97 /300 67.0
(v A B= 42 45 87 | 20.0| 67.0
L JIRF % 41 45 86 | 19.0| 67.0
8fir K% HEE 46 42 88 | 20.0| 68.0
INL Tk H— 44 44 88 | 20.0| 68.0
R VA | o FEFD ] 42 4 . . | 8 |180] 680
1147 EAS —HL 45 AT 92 | 24.0| 68.0
127 %k PRA 46 41 87 | 18.0| 69.0
13{31 KH B 45 42 87 | 18.0| 69.0
1447 WEH A 47 46 93 | 24.0| 69.0
A | AN FEE ) 43 43 .| 8 | 17.0 69.0
1647 HEH O 46 46 92 | 23.0| 69.0
1747 B 2 44 49 93 | 24.0| 69.0
18\ Bl EEZ 42 48 90 | 21.0| 69.0
19/ N 54 40 94 | 24.0| 70.0
2002 | ] PIH 2&—R8 | 48 48: | 9 2.0 700
2141 HI B 44 47 91 | 21.0| 70.0
220\ K& RS 42 46 88 | 18.0| 70.0
230\ HHE (& 53 47 100 | 29.0 | 71.0
2443 il #E5L 52 46 98 | 27.0| 71.0
A | U3 S 50 ¢+ 47 0 ¢} 97 (2.0 7O}
26{iz HT —ox 50 © 50 | 100 | 29.0 | 71.0
2747 %k 15 48 49 97 | 26.0| 71.0
287, RO 50 © 44 94 | 22.0| 72.0
29(i1 A E 47 AT 94 | 22.0| 72.0
1V VA | KA Wz o | 48 . 48 . | 96 |240| 720
S/ N K 50 50 100 | 27.0 | 73.0
3243 HA 46 46 92 | 19.0 | 73.0
33 AR HR 52 42 94 | 20.0| 74.0
3447 NEBTE 49 47 9 | 22.0| 74.0
1Y A | ffH M%) 48 48 . | 9 220 740
3607 wea %= 54 | 43 97 | 22.0| 75.0
37hr A —7 50 « 48 98 | 23.0| 75.0
38/\L. HB 72— 50 ¢ 51 101 | 26.0| 75.0
39z A 45 4T 92 | 17.0| 75.0
400 eIt 45 = 53 98 | 23.0 75.0 )

Tk =)L 7 AHEEED



pP-2

A= B
20214 9H 26H (H)
W BT o
FIHHIRR -
HDCP EFR (%) 1 999.9  HDCP LBR (%) : 999.9
4 j j j N\
W = H ) OKR A o IN GROSS| HDCP | NET
41T KH 2 49 47 3 96 | 20.0| 76.0
A2{37 HHOZME 53 . 53 | 106 | 30.0 | 76.0
437 EA B 49 49 : 98 | 22.0| 76.0
44457 P eI AT © 57 | 104 | 28.0| 76.0
YA | A e 50 . 48 . . | 98 210 7.0
4643 =% ZZfn 49 47 96 | 19.0| 77.0
ATHL fmE & 46 53 99 | 22.0| 77.0
48131 BA It 51 46 97 | 19.0| 78.0
4907 AR 49 - 49 98 | 20.0 | 78.0
1V A | Al Fx | 48 5L . ] 99 2L0] 780
3Liva BEIE B 54 43 97 | 18.0 | 79.0
B52fL R AR 49 47 96 | 17.0 | 79.0
53T e fE 52 50 102 | 23.0| 79.0
AL I RS 51 © 51 102 | 23.0| 79.0
1Y 1A I {5 = R 53 56 . 109 | 30.0 79.0
56/ I (£ 45 52 97 | 18.0 | 79.0
YCiva (S 52 50 102 | 22.0 | 80.0
B8AL HE A 54 . 55 109 | 29.0 | 80.0
590 [N 51 56 107 | 27.0 | 80.0
oeohs | ] O/ 51 59 110 | 30.0 8.0
6117 FAF s 49 © 50 99 | 18.0 | 81.0
6231 & G 48 50 98 | 17.0| 81.0
6337 = BV HS 51 56 107 | 26.0 | 81.0
641 FTH #ES 55 45 100 | 18.0 | 82.0
Se5h | ] winos 51 5L . 102 | 20.0 8.0
66/% RA IE 48 54 102 | 20.0 | 82.0
67{i ROR= 46 56 102 | 20.0 | 82.0
6837 VHEF FR—HR 60 @ 44 104 | 21.0| 83.0
6T SAE TR 58 52 110 | 27.0 | 83.0
SToh | ] ®iE w48 53 101 | 18.0 ) 8.0
TLHT R A 53 © 53 106 | 22.0| 84.0
T20\L fEi s 61 = 50 111 | 26.0| 85.0
(BIA EREE AN 57 52 109 | 24.0 | 85.0
TART LS 53 . 54 107 | 22.0| 85.0
G A | hEoR— ! 55 & 5 . . 111 |} 26.0 | 8.0
76/\L. R T2 51 @ 55 : 106 | 21.0 | 85.0
TThL PR B 57 © 57 | 114 | 28.0| 86.0
78(3r. REp ] 52 1 53 : 105 | 19.0 | 86.0
791 LI g 49 . 55 | 104 | 18.0| 86.0
L 80fL AKX EF 53 | 58 | | 111 | 24.0 | 87.0 )

Tk =)L 7 AHEEED



P-3

Apl= B
20214F 9H 26 H (H)
W BT o
FI PR :
HDCP PR (5): 999.9  HDCP LR (%) : 999.9
4 . . . h
g v | = H& K 4 ouT = IN | GROSS| HDCP | NET
81 PN 55 55 110 | 21,0 89.0
8231 W #mRGE 56 © 57 ; 113 | 24.0 | 89.0
83f17 W = 59 1 60 | 119 | 30.0 | 89.0
8417, VEH  RSE 51 @ 60 : ; 111 | 22.0| 89.0
85hL | AN mwE ] 53 . 6T . 110 1.20.0 90.0}
861 Hel A & 54 ' 68 122 | 30.0| 92.0
87 EEE e 51 65 116 | 23.0| 93.0
N R AH FIFR
N R I HEth
L | | | )

Tk =)L 7 AHEEED



